Wiederholung: Vereinfachung von Termen

a) Tizy—4jwy+3ir+y— 1tz + iy

b) 5,1a-+7,38a+ 2,17 — 3,29a + 1,589 — 2,099

c) —2ip+135¢—52p—T5q¢— $5pq —q

d) a-2%5b—5%a—5b—4ia—15b

e) —2z2%— (—z)+ (—3%2?) — (+222%) — (—-132)

) 25a—7+(-21)—(-7,39a) — (—3,724) — 2a

9) = —(—4ixy+23z) + (—Fay —33x)

h) dp—[52 — (3gp+T15) — (—3%p +2)]

i) 118z + 79 + 5822 — {13z — [272% — (432 + 7) + (822 — 7)]}
) (173’ —13a-Tba) : 13+ Ta — (6 4 4a + 7)]

k)Y —1,11zy:[-0,2z —(—-0,57z)] — 0,372 : (—0,01x)

) —5ia-(—2b) — [Ta®V? — (—3a?V?)] : (—2ab)

m) [(33z%y3 — 18y% - 3ya?) : (doy + 2%y : 2)] - [272 — (2227 : 2 — Bay : (3y))]
n) {[ab+ (7a*: (2a) — 2a) - b] — 14ab® : (4b)} : (3ab) — ¢

0) 2a+[8a%—b-(2a®>—a-(23a—13a))]: [3ab— (2ab — ab)]

p) —2222 4+ (—T7iz?) : [-3%2% 4 %x 13z — (=223) : (—2)]



Ergebnisse:

a) 2%:101/4—2%:64- %y
d) —93a—9%b

9) —5%:1: + 4%:@

i) I%ab

m) 18222

p) —2222+4+12

b)

h)
K)

n)

7,091a + 3,759

8322 + 23z
3 3

=3y + 37

1
2

—85p — 754 — 1314
7.89a — 5,376
9322 + 62z + 65

6=ab

1
2

4a



